Divergence of a Vector
It A=a,1+a, J+a,Kk, thedivergenceof A Is

defined as
div A =\ A
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Example :
If A=x"yi—xyz j+yz°k,

determine div Aat point (1,2,3).

Answer
oa
divA:V.AzﬁaX+ y+@aZ
- X oy o7
= 2Xy —XZ +2V1.

At point (1,2,3),
div A=2(1)(2) - (2)(3) +2(2)(3)

=13.



,/

e

/ T T——

Exercise :
If A=x7y*i+xyz j—yz°k,
determine div Aat point (3,2,1).
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ANnswer

divf\:V.Az

At point (3,2,1),
divA=...
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Remarks

A 1S a vector function, but div Ais a scalar function.

~

If div A=0, vector Ais called solenoid vector.



